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SA - FE - BI(EA) - NRAY - By 0l b SSa DS
-Eetsla Y BEAA WSKREFHS
1,600,0002! * 23] 3,200
~® Il oA 22l 8 3l b 150,0008 * 23] 300
~2E Y 23T AN
400,000& = 23 800
Ogas dlles 7,000,000& * 122 84,000
Ogas Hot==e= 500,000& » 12& 6,000
OFA H2ZAZHI
930 * 145m » BAIZ2t » 105 113,274
Ol 2AMH =l
930& * 2m = 16AI2t = 1052 3,125
O=A4a Ul A& ItAHZ
25,000& * 3M A * 158 * 53 5,625
OF 2,244 A=t
1,300& » 22/H * 16AI2H » 105 4,368
Otl&gdEIl A=t
1,700& = 50021 & » 152 12,750
O A& &EHl S Xl 102,200
OEMHSHXHI 79,010
=23 2,639m x 4 ,560& 12,034
-22S 5,233.15m" = 4,000 20,933
-FRasEs) 1,332.8m" x 2,250& 2,999
-SE@s 1,408.56m = 2,250% 3,170
-3 s 4,221.49m « 4 560& 19,250
-2t A 202m « 5,140& 1,039
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-7 EdAL 891m = 3,510& 3,128
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-g2as2 675.99m" = 3,440 2,326
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01 AL EZFH S 43,000 206,610 A 163,610
OFEU ALR4A &I 39,500
OMEE M4 200,000 = 304 6,000
OARE Xt 250,000 * 30H 7,500
OMEE Mg 200,000& = 304 6,000
OF/ 111 200,000& = 204 4,000
O X238 2 800,000& = 204 16,000
OMEEZetZE Il #& 3,500,000 * 1CH 3,500
SEH SEA A2 465,057 463,209 1,848
202 o4dl 3,600 3,072 528
01 = LH o4 1l 3,600 3,072 528
OSTACIUY MEXZA & HBAWH
20,0003 = 3% » 60 3,600
401 A& HIZ 201 Y| 461,457 460,137 1,320
01 A& HI 459,630 457,612 2,018
O8.2. A HIANES AHFAANE E=
1,200,000& * 3000 = 36,000
O .8, SEA ASANE2 HHEFHALE E=
5,000,000& * 300 = 150,000
O8.2.SEAM A2 & JIAHLH SXNES
1,000,000& * 2000 = 20,000
OZAM1IE FULMH FXE ZHSA
77,0003 = 460m 35,420
O=Wis =CHH st&E4A 2L S A
7,000,000 * 2004 14,000
oOsg1s NI X A
27,500,000& * 10024 27,500
Od3IalEs F2HdH 10 &X
1,000,000& * 80om’ 80,000
OJtdES F0HH UHAR TF S A 29,210
oul= =& 6,500& * 2,500m 16,250
OLEDE 1 Al 180,000& * 7274 12,960
Osds FLUHMH QI S3ME A 67,500
OAH=SSAM 150,000& * 170m 25,500
O&EIIES A 10,000, 000& 10,000
Ot &xX 20,000,000& = 1004 20,000
Oolaa WHuet)] 84X 4,000,000& * 304 12,000
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03 Al S THHI 1,827 2,525 A 698
OSEA ANIE2= =&AL AIZR20HI
253,630,000& = 0.72% 1,827
s AMEA 28 40,000 0 40,000
401 Al HIZ 201 Y] 40,000 0 40,000
01 A& HI 40,000 0 40,000
OSEAEA A SAH(ZZEHEI)
40,000,000 40,000
atg AL HE =& 1,050,000 0 1,050,000
= 1,000,000
Al 50,000
401 Al HI YL 201 Y| 1,050,000 0 1,050,000
= 1,000,000
Al 50,000
01 A& HI 1,050,000 0 1,050,000
ONMGTEA HE SA &bl
50,000,000,000& * 2.1% 1,050,000
= 1,000,000
Al 50,000
SE A HE =& 5,000 0 5,000
401 Al HI X 2018 5,000 0 5,000
01 A& Hl 5,000 0 5,000
OEYFIAN EXN BAH (ZEFHI)
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ATHA O X KIS X & A 64,000 0 64,000
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Al 32,000
401 AIEHI L 201 64,000 0 64,000
= 32,000
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01 A& Bl 64,000 0 64,000
OSUHAIRA EHSZ LIAL £X & &
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= 16,000
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Jl2&dl 49,742 56,640 A 6,898
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203 R =&lY| 5,200 3,780 1,420
03 Al =X H R =X Y| 1,000 0 1,000
OS3sANE LRF=A 1,000,000 1,000
04 EANSHLRF=AH| 4,200 3,780 420
ORANEIEYERFA 350,000& x 12& 4,200
ol 2AHY| 279,120 242,079 37,041
oI 4| 279,120 242,079 37,041
101 @121l 279,120 242,079 37,041
03 I HLZ22 NHE 266,299 242,079 24,220
OF AL 22| & 266,299
@)k 142,440
-254 Xt 27,640,000& * 29Y 55,280
-144 Xt 22,690,000& * 29 45,380
-104 Xt 20,890,000& * 2Y 41,780
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-tESY 70,0008 = 128 = 6YH 5,040
—HtE Y 100,000& * 128 = 19 1,200
EyRzay
8,650& * 20Al2t = 69 * 12& 12,456
-fuaesy
8,650& * 20Al2t = 6YH * 36 37,368
-0t X} g
27,000,000& / 3652 * 202 * 6Y 8,877
OXtH & Xt= 1,944
-=S&M 51,990& * 43 ~ 1H 208
-1 SsHM 433,880& * 43| = 1H 1,736
OY &SIyl 1,381,990& * 6H * 23] 16,584
OZ &l 120,000& * 128 x 6Y 8,640
OuWEH| 120,000& * 128 x 6Y 8,640
o=2s52Y 190,960& * 12& x 6Y 13,750
OJHAH X & HI 115,000& * 128 x 6Y 8,280
Ol =t 90,000& *» 28 *» 6Y 1,080
04 J|I2ZtH 22 NESE =+ 12,821 0 12,821
OJI2ZMZ22XNsSE> 12,821
Zotgl& Aldae oY
44,6403 * 26 = 1004 & 11,607
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